

## Revised Purchase Order



### **Sales Tax Exemption**

Prairie View A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of the Prairie View A&M University.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order			
Purchase Order Date	PO/Reference No.	Revision No.	Revision Date
<b>Jan 15, 2026</b>	<b>AB1113782</b>	<b>1</b>	<b>Jan 15, 2026</b>
<b>Contact instructions for questions regarding this Purchase Order:</b>			
If Buyer Contact information is listed below, please contact the Buyer.			
If not, please contact the Customer.			
<b>Buyer Contact:</b>			
Buyer	Buyer Email	Buyer Phone Number	
srp - Prater, Shawna	SRPRATER@PVAMU.EDU	936.261.1935	
<b>Customer Contact:</b>			
Name:	Sophie Amatya-Dhoubhadel		
Email:	SOAMATYADHOUBHADEL@PVAMU.EDU		
Phone:	+1 936-261-2164		

#### **Order acceptance instructions:**

**Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Prairie View A&M's Department of Procurement and Disbursement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Prairie View A&M's Terms & Conditions, which are available online: <http://www.pvamu.edu/pdsv/wp-content/uploads/sites/88/PVAMU-Ts-Cs-FINAL.pdf>**

Supplier Information		Delivery Information	
Supplier Name	SSC Service Solutions	<b>Delivery Address</b>	TAMUS Member: 05-Prairie View A&M University (05) Attn: Sophie Dhoubhadel
Address			
FOB / FREIGHT	Destination	Campus Planning & Space Management c/o Central Receiving Warehouse	#315, M.T. Harrington Science Building 1178 Reda Bland Evans St MS 1300 Prairie View, TX 77446 United States
Pre-Pay & Add	No		
Payment Terms	0, Net 30	<b>Delivery Information</b>	Required Delivery Date Ship Via Best Carrier-Best Way
Contract Number - Header	C24-05-21515		
Contract Number - Line	no value		
Quote number			

#### **Notes to Supplier**

<b>PO Clauses</b>			
Header	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 28	WO-174008 Furniture for the project MP-002: Model# SL-U3672 Slate U-shaped desk 36"X72" desk with box file pedestal	MP-002	EA	22,492.21 USD	1 EA	22,492.21 USD
2 of 28	F214BCF10XFSSN SC Freedom Task Chair with Headrest, upholstered arms	MP-002	EA	1,508.13 USD	1 EA	1,508.13 USD
3 of 28	Model# 3520 Signal Cantilever Guest Chair with Arms, Fully Upholstered	MP-002	EA	1,091.69 USD	2 EA	2,183.38 USD
4 of 28	Model# NAT4848-30RDXB Native 48" Round Table with Metal Angles X-Base	MP-002	EA	1,908.51 USD	1 EA	1,908.51 USD
5 of 28	Model# SV46407 SAVA Upholstered Light Conference Chair on Casters, Fixed Arm with Upholstered Cap	MP-002	EA	1,683.07 USD	4 EA	6,732.28 USD
6 of 28	Model# BS1 Bespace Lounge Chair with Wood Detailing Metal Legs	MP-002	EA	2,592.32 USD	2 EA	5,184.64 USD
7 of 28	Model# A636-21SS Conic Low Table, Rounded Corner 21" Square, 16"H	MP-002	EA	596.65 USD	1 EA	596.65 USD
8 of 28	Model# A636-21SS Smoke Glass Topper For Desk and Conference Table	MP-002	EA	2,371.73 USD	1 EA	2,371.73 USD
9 of 28	Model# A636-21SS Acoustic Privacy Sound System with Control Unit	MP-002	EA	440.06 USD	1 EA	440.06 USD
10 of 28	Model# 83908 3'x4' Magnetic Glass Markerboard	MP-002	EA	257.11 USD	1 EA	257.11 USD
11 of 28	Model# NAV42108-30TTPB Native Rectangular Conference Table with Metal Trim Wood Panel Base 42"x108"	MP-002	EA	7,445.09 USD	1 EA	7,445.09 USD
12 of 28	Model#IN492756/66 Insight Tall Back Conference Chair with Fixed Upholstered Arms	MP-002	EA	1,492.19 USD	10 EA	14,921.90 USD
13 of 28	Model# A636-21SS Smoke Glass Topper For Conference Table	MP-002	EA	2,371.73 USD	1 EA	2,371.73 USD
14 of 28	Model# DiT3066 Take off L-Shape Desk: 30"x66"	MP-002	EA	3,005.18 USD	2 EA	6,010.36 USD

15 of 28	Model#DiT3060 Table Off L-Shape 30"x60"	MP_002	EA	2,962.50 USD	1 EA	2,962.50 USD
16 of 28	Model# DiT3672 Take Off Rectangle O-Leg Desk: 30"x72"	MP-002	EA	1,414.04 USD	1 EA	1,414.04 USD
17 of 28	Model# DiS3066 Take Off L-Shape Desk: 30"x66" O-Leg Desk with Mobile Box File Pedestal	MP-002	EA	3,359.35 USD	1 EA	3,359.35 USD
18 of 28	Model# 85040 You Too Task Chair with Mesh Back	MP-002	EA	673.10 USD	5 EA	3,365.50 USD
19 of 28	Model# Z53 Zephyr Sled Base Guest Chair, Mesh Back	MP-002	EA	641.79 USD	6 EA	3,850.74 USD
20 of 28	Model# 83908 3'X4' Magnetic Glass Markerboard	MP-002	EA	257.11 USD	5 EA	1,285.55 USD
21 of 28	Model# NAT3672-30ARLB Native Arc Top Conference Table 36"DX72"W	MP-002	EA	2,420.57 USD	1 EA	2,420.57 USD
22 of 28	Model#11057 Tuck Collaborative Task Chair with Poly Back	MP-002	EA	424.18 USD	6 EA	2,545.08 USD
23 of 28	Model# KDA-DSG Design Services to include Drawings, Bubble Diagram	MP-002	EA	2,155.00 USD	1 EA	2,155.00 USD
24 of 28	5% Project Bond	MP-002	EA	6,470.79 USD	1 EA	6,470.79 USD
25 of 28	Delivery/Freight	MP-002	EA	7,818.97 USD	1 EA	7,818.97 USD
26 of 28	Installation	MP-002	EA	15,116.67 USD	1 EA	15,116.67 USD
27 of 28	2% CP Fee	MP-002	EA	2,543.77 USD	1 EA	2,543.77 USD
28 of 28	SSC Fees @5%	MP-002	EA	6,486.62 USD	1 EA	6,486.62 USD
				Total	<b>136,218.93 USD</b>	

Billing Information	Billing Address
<p>To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.</p> <p>Invoice must include the PO/Reference number shown above.</p>	<p>Prairie View A&amp;M University- Accounts Payable ***Do Not Mail Invoices*** Email invoices to Payables@pvamu.edu P.O. Box 519 MS 1311 Prairie View, TX 77446-0519 United States</p>